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b= 16.0~25. 6% | 10.7~14. 0% 8.0~9. 8% 6.1~7.5%
751 ~ 12 ( 0.1)
701 ~ 750 10 ( 0.1)
651 ~ 700 12 ( 0.1)
601 ~ 650 22 (0.1)
551 ~ 600 12 ( 0.1)
501 ~ 550 7 ( 0.0)
451 ~ 500 12 ( 0.1) 1 ( 0.0)
401 ~ 450 34 (0.2) 6 ( 0.0)
351 ~ 400 1 ( 0.0 36 (0.2) 20 (0.1)
301 ~ 350 7 ( 0.0) 86 ( 0.5) 57 (0.3) 7 ( 0.0)
251 ~ 300 8 ( 0.0) 210 ( 1.1) 128 ( 0.7) 35 (0.2
201 ~ 250 22 (0.1) 476 ( 2.5) 313 (1.7) 138 ( 0.7)
176 ~ 200 19 ( 0.1 457 ( 2.4) 280 ( 1.5) 151 ( 0.8)
151 ~ 175 30 (0.2) 611 ( 3.3) 447 (1 2.4) 293 ( 1.6)
126 ~ 150 56 ( 0.3) 706 ( 3.8) 993 ( 5.3) 609 ( 3.2)
101 ~ 125 92 ( 0.5) | 1091 ( 5.8) | 1560 ( 8.3) | 1255 ( 6.7)
76 ~ 100 126 ( 0.7) | 1770 ( 9.4) | 2635 ( 14.0) | 2662 ( 14.2)
51 ~ 75 294 ( 1.6) | 2247 ( 12.0) | 4721 ( 25.1) | 5049 ( 26.9)
26 ~ 50 1162 ( 6.2) | 7109 ( 37.9) | 6392 ( 34.0) | 7408 ( 39.4)
~ 25 | 16964 ( 90.3) | 3861 ( 20.6) | 1228 ( 6.5) | 1174 ( 6.3)
A &t 18781 (100.0) | 18781 (100.0) | 18781 (100.0) | 18781 (100.0)
p




